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1A EHI 2RI 201,000 0 201,000
1 A& HI 200,000 0 200,000
0 TSNS 222 200,000
03 Al S THHI 1,000 0 1,000
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0 XA =EXE2AN 29 900
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0 MASHOHQ &M 2 2AH XI& 2,000
= 1,000
i 1,000
O EXRIN XA 2,870 4,101 A1,231
= 2,296
s 574
301 et d s 2,870 4,101 A 1,231
= 2,296
s 574
01 MEIE2EZE+05l= 2,870 4,101 A1,231
0 Zojel EX0|172 W8 2,870
= 2,296
s 574
INELSI BoH+Y 233,286 222,000 11,286
= 163,300
s 69,986
301 LptR &3 233,286 222,000 11,286
= 163,300
e 69,986
01 MEIBEE 253 233,286 222,000 11,286
0 ZOH==Z (=) XI& At 233,286
= 163,300
s 69,986
ZOHe 2F 7 ==cldl X& 10,000 10,000 0




SN Eo=)
Hy: Y =XEA
ol FOHOl MEOIHK S (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 10,000 10,000 0
11T AISIEXAIEEX 10,000 10,000 0
0 XAIMZOHCIES 3 &HHABEHT £=2/H K& 10,000
ool =2 2,112,527 1,927,153 185,374
= 1,478,769
& 190,127
= 443,631
301 et A= 2,112,527 1,927,153 185,374
= 1,478,769
& 190,127
= 443,631
01 Al B & A 46 2 2,112,527 1,927,153 185,374
0 ZOojelA= 2,112,527
= 1,478,769
= 190,127
= 443,631
AALAHS 2o 163,569 190,000 N26,431
= 114,498
= 49,071
301 et A= 163,569 190,000 N26,431
= 114,498
= 49,071
01 Al E& A %52 163,569 190,000 N26,431
0 HOHSE (XA S) AFAY 163,569
= 114,498
= 49,071
CHEMW=E 28,800 34,320 N5,520
o=t 8,640
= 20,160
301 LBt A= 28,800 34,320 N5,520
& 8,640
= 20,160
01 Al E & A 462 28,800 34,320 N5,520
0 SHIEMEE 28,800
o= 8,640
= 20,160
ZOHQIAIS B S B & 1,791,689 1,435,593 356,096
= 803,350
= 200,331
= 788,008
Z0H0IE ®IE ER20= 5,000 5,000 0
307 giztol A 5,000 5,000 0
11T A EXAIEEX 5,000 5,000 0
0 ZOHOIE Qst E20E XNHA(LEILSE ZOH
o2 3) 5,000
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SN Eo=)
M Ho=xsad
Sl BOjOIASESEE (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 14,903 13,400 1,503
< 5,961
s 8,942
05 RIZHRI & 3 14,903 13,400 1,503
0 SESZML S0+ XNIAY 14,903
< 5,961
s 8,942
o=z 249 13,000 13,000 0
307 glz2+ol & 13,000 13,000 0
11T MISRASER 13,000 13,000 0
00ls=2=21e 2L (GtsNANELH) 13,000
EMAHEA 2 25,000 25,000 0
307 21201 A 25,000 25,000 0
11T M3 SXAISEEX 25,000 25,000 0
0 EXMOUEHA AS2F(XNMEFHAES!) 25,000
ZONlg el K& (SX LX) 168,960 132,000 36,960
= 84,480
< 25,344
s 59,136
101 @14 Hl 168,960 132,000 36,960
= 84,480
< 25,344
s 59,136
04 JIZHHZ22XNHEE S 168,960 132,000 36,960
0 ZOHe SXLXel XA 168,960
= 84,480
< 25,344
s 59,136
oYXl X2 (SR LAel, = KA AY) 11,000 0 11,000
< 5,500
e 5,500
101 124 dl 11,000 0 11,000
< 5,500
s 5,500
4 D12t Z2XREES 11,000 0 11,000
0 MoHel SXLXel XA (XA 11,000
< 5,500
[ia 5,500
ZONolYg el K& (Letadxtel) 335,189 172,000 163, 189
= 167,595
< 50,278
[ia 117,316
101 @124l 335,189 172,000 163, 189
= 167,595




SN Eo=)
HE: ZO=XEH
e oA E S8 E (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 50,278
= 117,316
04 JI2ZtHIZ22NEE S 335,189 172,000 163, 189
0 HOoHol duts AXel XA 335,189
= 167,595
= 50,278
= 117,316
Ao ol Xtel X2 (Al EAIL Xtel) 33,540 30,000 3,540
= 16,770
= 5,031
= 11,739
101 21 214| 33,540 30,000 3,540
= 16,770
o=} 5,031
= 11,739
04 JI2tHI22NEES 33,540 30,000 3,540
0 HOHQI AIZEHI £ X2l XJAE 33,540
= 16,770
& 5,031
= 11,739
F3| &0l 2E X 28,700 28,700 0
201 Yet2 | 15,500 15,500 0
01 AP 22| H| 13,500 13,500 0
0 2Bt ZH]| 13,500
o OIS XAIECHY EE2E=2 HZ 5,000
o MADD ARE RY 5,000
o AMNREE F¢ 3,500
02 324 H| 2,000 2,000 0
02222 <2 A 2,000
202 o4l 13,200 13,200 0
01 2Ll 13,200 13,200 0
0 2tLH o4 H] 170,000€¢ * 5% « 12&€ 10,200
0 22|04 dl 50,000& = 5% = 128 3,000
ol AZsAI, DX 17,220 17,420 A 200
201 Bt 6,420 6,420 0
03 A2 G| 6,420 6,420 0
0 Hojel&ed HAIEA e 7Y 6,420
203 € R =& 1,800 2,000 A 200
03 AIEH =X H 2 F X Y| 1,800 2,000 A 200
0 AISIEX AHAL2 =X 1,800
307 212t0| & 9,000 9,000 0
11 A EXAIEEX 9,000 9,000 0




2N
X ZH -
L= B

el

Folg =1
ZoHoI =X EZ
DO ANS B ESE

5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
0 ANIZZEOHCIES BtAH2USE XS 5,000
0 XIMEOMOES Sstsegsid 2,000
0 AIZZ0HC S XZ0I9 ¥ AKX 2,000
O MEQSKNIJHAEHSH 115,000 115,000 0
& 6,800
= 108,200
307 giztol A 115,000 115,000 0
& 6,800
= 108,200
10 MM SAANEEHESIHEX 115,000 115,000 0
0 ZOHQIMEQSXIALMEH2I (1A) 115,000
= 6,800
= 108,200
Al KHEOHQ HOYAIALE XNJMEH 2H 50,000 50,000 0
= 15,000
= 35,000
307 QI2t0| ™ 50,000 50,000 0
& 15,000
= 35,000
11 A EXAIEEX 50,000 50,000 0
0 ZOHQITOIAlE XIRFHAHSE(1HA) 50,000
& 15,000
= 35,000
U= XNHHE X2 45,414 39,690 5,724
307 2Iz2t0| A 45,414 39,690 5,724
03 QIZI X HAESIHIEX 28,724 23,000 5,724
0 XAIMZEOMCIESE 3 dts2X 3 28,724
11T A EXAIEEX 16,690 16,690 0
0 AIZEOIEES Bt=s2AE 7,690
0 sOtolEd stszAlal 3,000
0 BOCIRER23 dts=2X3 6,000
ArEtLES0] Befet 2F 32,800 32,800 0
307 QI2t0| ™ 22,000 22,000 0
11 A EXAIEEX 22,000 22,000 0
0 AFZE LIS 0| ®ejel 2H(130HA) 22,000
402 BI2H X =20l M 10,800 10,800 0
01 SIZEXIEANYEXZ (M) 10,800 10,800 0
0 AFELIS0] &eyet D101 72¢ 10,800
S THE AL A BIRH XS 71,280 66,281 4,999
= 49,896
& 10,692
= 10,692
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2N
X ZH -
L= B

el

Folg =1
ZoHoI =X EZ
DO ANS B ESE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,344
= 288
= 288
GEFMe SMHESXA 3,000 4,000 A 1,000
= 2,100
< 270
s 630
301 et d=s 3,000 4,000 A 1,000
= 2,100
< 270
s 630
01 MEI2EZE+06l= 3,000 4,000 A1,000
0O HdEMe E4aHIE K& 3,000
= 2,100
< 270
s 630
Zoel AASE L ASHHEH AL 30,000 30,000 0
307 glz2+0l & 30,000 30,000 0
11T MISRASEX 30,000 30,000 0
0 ZOHQ HASH & ALS| &0 &HHAHY 30,000
2SEX =20 872 1,003 A131
=2 610
< 79
[ia 183
307 21201 A 872 1,003 2131
= 610
< 79
[ia 183
05 BIZERIE 3 872 1,003 A 131
0 882X Jht=20 872
= 610
< 79
e 183
XA HHAS 8,000 0 8,000
201 Zer24] 8,000 0 8,000
01 At 2t 2l 8,000 0 8,000
0 EXMO HH ALY 8,000
ZOHQ HOIAIL AE M==Z A 10,410 0 10,410
< 3,123
i 7,287
307 21201 A 10,410 0 10,410
< 3,123
e 7,287
11T MISAASEX 10,410 0 10,410
0 ZOHQ EHOAAIE HEH H=x=ZXZAL 10,410




SN Eo=)
Hy: Y =XEA
Sl HOHQANSBESEE CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,123
s 7,287
g 34 N2 900 0 900
= 720
< 90
s 90
301 gt 4= 900 0 900
= 720
< 90
s 90
01 MI2EZE 06z 900 0 900
0 LLHHO BTHA X 900
= 720
< 90
[ia 90
MII=XAE 2949 3,295,124 2,455,021 840,103
= 1,191,899
< 489,063
i 1,614,162
ZOHAANFAIE 28 XA 1,702,712 1,661,768 40,944
= 1,191,899
< 163,244
e 357,569
307 glz2+ol & 1,702,712 1,661,768 40,944
= 1,191,899
= 163,244
e 357,569
10 ALSISEXAIEEE2EHEX 1,702,712 1,661,768 40,944
0 ZOHAHZ=AIE 2L XA (L) 1,702,712
= 1,191,899
< 153,244
s 357,569
ST NSH2RAMEH 29 140,000 140,000 0
< 56,000
s 84,000
307 21201 A 140,000 140,000 0
< 56,000
[ia 84,000
11T A S XA E X 140,000 140,000 0
0 ESZOQ NEMEBXAME 2 (XIXEOH
oIE3gl) 140,000
< 56,000
s 84,000
sy 29 150,000 150,000 0
< 5,650
[ia 144,350
307 21201 A 150,000 150,000 0




AN FRHS Y
Hy: Y =XEA
S MEEXAE 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,650
s 144,350
10 ALSISXAIEEE2EHEX 150,000 150,000 0
0 2SI SHME 2SS (L) 150,000
< 5,650
[ia 144,350
U FAESHEH 2 169,682 166,380 3,302
< 75,000
s 94,682
307 21201 A 169,682 166,380 3,302
< 75,000
= 94,682
10 ALSISXAIEEE2IHEX 169,682 166,380 3,302
0 LT FAESHH 2D (1HLA) 169,682
< 75,000
s 94,682
ESTONHC A2 X2 39,000 39,000 0
< 13,650
s 25,350
307 gl & 39,000 39,000 0
< 13,650
s 25,350
11T M SRASE EX 39,000 39,000 0
0 SESZHOMHAMI Arcdl2tel X&(1E) 39,000
< 13,650
[ia 25,350
ZOHA=SXIAIE SAX==E XA 117,000 124,800 A7,800
< 58,500
i 58,500
307 21201 A 117,000 124,800 AT,800
< 58,500
s 58,500
10 ALSISEXAIEEE2EHEX 117,000 124,800 A7,800
0 JOHASKAE SALN=SAA(HSRL AL
& 2 4HL) 117,000
< 58,500
s 58,500
AZEEOjQ FALSHE 29 88,000 87,123 877
< 40,000
i 48,000
307 2I2+0 & 88,000 87,123 877
< 40,000
i 48,000
10 ALSISXAIEEE2EH EX 88,000 87,123 877
O AIZEOHQI =2 ESHEH 29 (1HA) 88,000
< 40,000




2N FUH=
Hy: Y =XEA
2. AISIE2XAIE 2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| o 48,000
OISR AME X 75,000 75,000 0
< 22,500
= 52,500
307 2Iz2to| & 75,000 75,000 0
= 22,500
= 52,500
10 M SXAANEEHESIGHEX 75,000 75,000 0
0 HOHCIDIEXNRHEH AKX 75,000
=} 22,500
= 52,500
RO HTAIE 22X 023 (AR 2ALS ) 10,950 10,950 0
& 5,475
= 5,475
307 giztol & 10,950 10,950 0
& 5,475
= 5,475
10 MM SAANEEHESIGHEX 10,950 10,950 0
0 HOHQl HFTAE 228 o242 (A At
ol &) 10,950
= 5,475
= 5,475
CIAHXIZAOIE 2H 1,680 0 1,680
201 LBt | 1,680 0 1,680
01 AP 22| H| 1,680 0 1,680
0 QIAXZOIS HI|g o &AM ¢ 1,680
0o EX& 29 601,100 0 601, 100
& 51,100
= 550,000
307 QI2t0| & 601,100 0 601, 100
& 51,100
= 550,000
10 A SXAANEEHESIGHEX 601,100 0 601, 100
0O Hoor=x2 29 601,100
& 51,100
= 550,000
N ESESE 2H 200,000 0 200,000
= 7,944
= 192,056
307 QI2+0I & 200,000 0 200,000
= 7,944
= 192,056
11 A EXAIEEX 200,000 0 200,000
Ools Ao EsEHAYN 29 & 200,000
= 7,944




2N
X ZH -
L= B

el

= 04
or 2o
iz re o

= e

= A

o
o &
02

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

HJ

192,056

|
& of

OTAIEN A AL

MR

74,266
27,133
30,133
17,000

2,636,

000

AN2,561,734

PNy
=}

Of &1 & 2l Al

x

= A
- T

i

10,000

,000

401 AIEHIZ 2 I

10,000

,000

01 A& HI

0 HOHAEH2AAE 2

10,000
10,000

,000

=
=)

a

Ol

ol =

o

A

M

10,000

3,000
7,000

,000

A5,000

402 2I2tXt=01&

M

10,000

3,000
7,000

,000

A5,000

Mo

10,000

10,000

3,000
7,000

,000

5,000

o

54,266

27,133
27,133

50,

000

4,266

o

54,266

27,133
27,133

50,

000

4,266

A

54,266

54,266

27,133
27,133

50,

000

4,266

e
kJ

H AW

1,683,157
1,085,348
99,000
184,311
314,498

1,366,

679

316,478

SAX K&

M

13,000

6,500
6,500

,600

A2,600

S AR K&

EURLY

13,000

6,500
6,500

,600

A 2,600

307 21201 A

M

13,000

6,500
6,500

,600

A 2,600

10 MM SXNANEEE2SHEX

13,000

,600

A2,600




ol
=

2N
X ZH -
L= B

el

=
=1

pes

12w e
ko
e ol I

2 HE SAX X8 (el m2)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

0 XtHlEe SAX =g (5Y) 13,000

6,500
6,500

M

A& At

Q

1,670,157 1,351,079 319,078
1,085,348
99,000
177,811
307,998

H =

MNAs MaRAAE SEXNIAMS 136,388 120,000 16,388

68,194
68,194

EURLY

101 @128l 136,388 120,000 16,388

68,194
68,194

M H

04 DIt 22 XS+ 136,388 120,000 16,388
0 MAS XH&2A 136,388

68,194
68,194

i
in
1%
>
0
ro
ry
=

EUNL

XNATEE ASIMHIA ETAIY (JHAIZIE 2 2E 20 123,750 123,750 0
A
99,000
7,425
17,325

HHA

307 21201 A 123,750 123,750 0
99,000
7,425
17,325

HHhA

123,750 123,750 0
S0 At 123,750

99,000
7,425
17,325

Y
0F oy
i
Bl
H

(]
J

(@)
()]
e
S
> 10
Jm

Mo =

o

AeEzz NGAEdye 2 29X
2AY)

1]
rx
m
Mo
02
p=|
1
rJ

981,529 801,417 180,112

785,223
58,892
137,414

Mo R

101 1Al 362,029 155,181 206,848
289,623
21,722
50,684

Mo R

04 DIt 22 XS+ 362,029 155,181 206,848
0 REZZANY (NHEBBSIS2ZAY) 362,029
289,623

21,722
50,684

HH A

202 o4 Hl 6,500 6,500 0




SN FUH=D
A gL
chels THEALY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 5,200
< 390
= 910
01 = LH o4 1l 6,500 6,500 0
0 MHEIZAS (HEBELIRH 22A0H]) 4,000
= 3,200
< 240
[ia 560
0 NHEZZAG (MHE2ZAMY XNE 2O 2,500
= 2,000
< 150
e 350
206 M= Hl 13,000 13,000 0
= 10,400
= 780
fia 1,820
01 =8l 13,000 13,000 0
0 HEZZAMNG(NHEZZ2AMY FA 13MSH) 13,000
= 10,400
< 780
s 1,820
307 21201 A 600,000 626,736 A 26,736
= 480,000
= 36,000
= 84,000
11T AL SXAEE = 600,000 600,000 0
0 RHEZZ2AL (A0S XHEAY) 600,000
= 480,000
< 36,000
e 84,000
Ne2z NGady ¥ 29084 22 (XY 205,826 201,040 4,786
2HE 29)
= 144,078
< 18,524
[ia 43,224
307 21201 A 205,826 201,040 4,786
= 144,078
= 18,524
s 43,224
10 M SXNANEHES2IHEX 205,826 201,040 4,786
0 NIGEXEHE 2 (1A, o124y 5Y) 205,826
= 144,078
< 18,524
e 43,224
22580 A= =2k 2z NI (JYIISSE 41,730 70,366 N 28,636
)
= 33,384
< 2,504




SN Eo=)
A gL
el REAY (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 5,842
307 glz2tol & 41,730 0 41,730
= 33,384
< 2,504
s 5,842
05 RIZHRIEt 3 41,730 0 41,730
0 225280 Y= =242 E53 N (Y
ISEEH) 41,730
= 33,384
= 2,504
e 5,842
THEAY 243 SAAY 23,950 18,610 5,340
S 11,975
s 11,975
307 glz2+ol & 23,950 18,610 5,340
< 11,975
s 11,975
02 It M AHEE 23,950 18,610 5,340
O RtEAMY E8SFFE(1HL) 23,950
= 11,975
i 11,975
22s80l Ae 2N 222 A (UHYISSE 13,533 15,896 A 2,363
)
= 10,826
S 812
i 1,895
307 glz2tol & 13,533 0 13,533
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= 261,874
== 33,669
= 78,562
05 QIZ2tR EF 2 274,105 0 274,105
OOlolEE2 NIANY(AISIBEEREEH) 274,105
= 191,874
=} 24,669
= 57,562
11T A EXAIEEX 100,000 385,229 A 285,229
0 0Ol0lE2 KNYAN (SIS KAXEHE) 100,000
= 70,000
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A Eow=]
Bu: wE S AL (R0
Crel: D2 bl (R0 = cHol &)
SA - . o9 il H D52
TR
8,000& * 25% * 100€& 20,000
203 YR =&l 4,800 4,200 600
04 2NE2SY 4,800 4,200 600
0 2NM2Y 400,000&  12&€ 4,800
Heas (== 434,157 468,798 A 34,641
HEAHHXS (=23 434,157 468,798 A 34,641
HEHH X = 434,157 468,798 A 34,641
701 JIELSI HI S 434,157 468,798 A 34,641
01 JIEtSI A& 434,157 468,798 A 34,641
02dE2=0d H HES 434,157




